107!

1072

107

10

Ratio
=

-6

-4 -2 0 2 4 6 8 10

[ pull of goverp parameter |

res

%aﬂ 0.
10t e o
E V;\éVIES - 7.‘ 7
- e, ojqé’é‘g
102 i —
E gﬁ?ta‘ﬁt ﬁng
L B
10t
10'45— """
o [ :
s I Z
x :
05
ZIS70 2 476 8 10

-10 -8 -6

= EgMngEﬁtggéH tNEWT20

[ pull of @parameter |

107}

1072

1073

10

Ratio
=

0.5

TTT T T

[ pull of dxy parameter

107}

1072

Ratio
=
|||||||||I |III|

10-8 6 4-20 2 4 6 8 10

nes
g‘nst%‘(n 8 9?%
drles 0 0 1
ho@nt

0 2 4 6 8 10

[ pull of 6 parameter |

107}

1072

Ratio
=

-8 -6 -4-20 2

-10
[ pull of dz parameter
”e:V 0.0
w0k S oghh
E e?'IeS .01%9
B %‘nsl%\rﬁl 00160§
1072:_ ....... Tes 0.
E (e, 00g323
u i
107k
1077
o ™
g 4
05—_
-10-8 6 -4 2 0 2 4 6 8 10




	Contents
	Page 1


